
A Geometry Proof 
 

In the diagram below 𝐴𝐶 is a tangent to both circles.  The circles intersect at 𝐷 and 𝐸.  𝐵𝐷𝐸 is a straight line. 

Prove that 𝐴𝐵 = 𝐵𝐶. 

 

 

___________________ 

Draw the line segments 𝐴𝐸, 𝐴𝐷, 𝐷𝐶 and 𝐶𝐸. 

 
Triangles 𝐵𝐴𝐷 and 𝐵𝐸𝐴 are similar since angle 𝐵𝐴𝐷 is common to both and angle 𝐵𝐴𝐷 = angle 𝐴𝐸𝐷, by the 

alternate segment theorem. 

It follows that 
𝐴𝐵

𝐵𝐸
=

𝐵𝐷

𝐴𝐵
⇒ 𝐴𝐵2 = 𝐵𝐷 × 𝐵𝐸 . 

Similarly, triangles 𝐵𝐶𝐷 and 𝐵𝐸𝐶 are similar therefore 𝐵𝐶2 = 𝐵𝐷 × 𝐵𝐸. 

𝐴𝐵 = 𝐵𝐶.  

 


